Question Paper Preview

Notations:

1.Options shown in green color and with % icon are correct.

2. Options shown in red color and with * icon are incorrect.

Subject Name: Stream SA

Creation Date: 2016-11-09 16:30:18

Duration: 180

Total Marks: 100

Display Marks: Yes

Calculator: Scientific

M agnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Part I Mathematics

Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 4356472001 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1
7 & ok s e agwe P(x) = ax? + bx + ¢ Fem iE# Y a, b, ¢ SEnio 4 (arithmatic

progression) ¥ €. 4% P(x) = 0 HETJTT'GFHFIE sim B oA a+ [+ af saEeEm
A3 B. 5 | G D. 14

Options:
1. % g

£

-.5;,35
3I¥C
4 % p

Question Number : 2 Question Id : 4356472002 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1



163516 Zymee wow F Fiw F o E

A. 16 B. 17 C. 18 D. 19

Options:
R

1% p
3.9
4 ¥ D

Question Number : 3 Question Id : 4356472003 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1

@mmm&ﬂa it b Ffomwal t wamawrseEmm w2 = at + b. o= o v

e a s b¥wfae, 3 Fefafas & s sww T 2

A 4t +3 B. 8t+5 c. 10t+ 3 D. 6t+5
Options:
1% A
1¥p
3% C
4 ®D

Question Number : 4 Question Id : 4356472004 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1

maAfFEwEm (1+a+b)* =3(1+a®+b?) da 7 b Inf® e &, 0=

&=

. (@, b) = &=g™ (solution pair) T 2.

us]

. (@, b) s== Targm B
c. (a, b) %= 31 =g &

D. (a,b) %= v wwgm .

Options:
1% 4

1% p
 ®

[R]

4 ¥'D

Question Number : 5 Question Id : 4356472005 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1



TR a;, Ay, -, Qg FITEAEF FEACTFFRLEF A +a; + -+ Ay = 0.79

A Y 20m2% >0 v Y 0a, 2 %< D

w

100 T ~ 100 —aj -
G2 =l om Foga;2 =l

100 aj 100 — ]
i1 @29 <0 ) a; 279 <0

e

100 aj 100 —a; 3£ oo s
p. X0 a;2% m ¥ 20a,27% wfaga, wisk?

Options:
1. ¥ A

1% B
®

[N ]

4 ®D

Question Number : 6 Question Id : 4356472006 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
T {6 ABCD v Goeid =g+ (trapezium) &, fsed AB vs CD wwiig, AB =11, BC =4, CD =6
a1t DA =3. @ AB sk CD ?ﬁaﬁafﬁr@

A. 2 B. 24

g D. T&% Mo amT o fyiie 725 & o 2.

Options:
R

1 9B
N

Lsd

4 ¥ D

Question Number : 7 Question Id : 4356472007 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
fig A, B, C, D, E v=3a i 7ithy W gféromad (clockwise) #AA @ @R & i LABC = 130° @

£CDE = 110°. aa®w LACE #19H % (degrees) # &

A. 50° B. 60° | D. 80°

Options:



1 % A
1 ¥ B
38 C
4 ®D
Question Number : 8 Question Id : 4356472008 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Correct: 1
1, 2 7 3 3= =20 I & O ol i U o 7 gl ®9 8 T 5 €. 3 T61 & dal Bl wied § 1 e
1 €, JHeh! 37 @l (4=41 (circum-radius) EF

A, 1.5 B. 2 C. 25 D. 3
Options:
1% A
1 %P
3¢
4 %D
Question Number : 9 Question Id : 4356472009 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Correct: 1
fog P wh s ABC. =1 LABC = 90", s s g. o=« fw Py au P, wow: P& AB@ut BC
fafera &, 7@ i ABC @ P, PP; SHswi®ia=asigie

AR AP+BP+CF
B E e
2 3
AC AB+BC+AC
. — B ————
. 2

Options:
1. % A

1. % p
3.9
4 ®D

Question Number : 10 Question Id : 4356472010 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

ft @ ¥ b SeEE ITEEETER m TR F a + 2b < 1. sAEF A, 7 A, Fer ab? Fn

-, x - A, _ .
b? = maqam@m%.aaf T HEAH T T T EAT 7
2

1 1 1 1
A — B. — C. — D. —
16 54 16y 2 32




Options:
1% 2

. ¥ B
S ®C

(]

4. %D

Question Number : 11 Question Id : 4356472011 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
T W S SR (shape) 1 51 AT €. ST G9H 51 9 Serd| 8. Teal| Aad| 5 92 5 3% gai Amedr 3 69e 3 g

ST STl 8. THT AAaiAl T T ST Sl 6. (o (el o 916 el HIqed] ool sTeaiTs Getl AIFsi| ohi a1 T8 St 7
A. 90 B. 120 C. 135 D. 150

Options:
1% A

1% p
3.8
4. ¥D

Question Number : 12 Question Id : 4356472012 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

T T ol A QO € quT SR U 711 ¢, Afa sEeht it = & A0 i B9 § §0 O Tan! & Gawd & 40

& SET €, T ! @ Al & A0 e
A.12 B. 18 C.24 D. 26

Options:
1% 2

£

1% p
39
4. %D

Question Number : 13 Question Id : 4356472013 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1



ar= {1,2,3,...,100} ¥ Ay, A;, ..., Ap T 30 (non empty) TrT=  fF
v s |Apy| AR

(1) e |4y, |4,
2) Ay, A, ..., A, TTEEAY (pair-wise) 3T (disjoint) &
(=&l |A| @a==1 A 4 5=741 (elements) &1 FEAT 8)

95 M T HEAH H6E IH B

Options:
1. A

1% p
3 %
4 %D

Question Number : 14 Question Id : 4356472014 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
&1 A1 11 U &0 N 3@ UFH &% 11 5815 T (tens place) & 37 & =71 (square) 797 3135 T4 (ones place) &

T (cube) T TMTHE €, Tel U TEATH i el TG [T BRT1

Options:
1% 4

1% p
39
4 %D

Question Number : 15 Question Id : 4356472015 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
TF i f T ST T S F o= e m mwn amaa & f(xy) = f(x) + f(y), ==
X ¥t yomew e 3 f(12) = 24 @ f(8) = 152, &1 f(48) wramem

Options:
I
1. % p
%

4 ¥ D

(]



Part I Physics

Display Number Panel: Yes
Group All Questions: No

Question Number : 16 Question Id : 4356472016 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
e SAith o 1G9 H 25.0° I ol AW 3.18 km 7% eidl € | F4 W O AT A % oI 30 98 I fown 4 3R aeage o
w5 fopeeit g <ttt e
A.2.88 km 3 o & 9T 1.34 km & fewm .
B.2.11 km 3w fe¥m & #i 2.11 km 7 fGurm .
C. 1.25 km 3o fe9 H 1T 1.93 km 75 femm =,

D. 1.34 km 3% fo¥m & 3 2.88 km 7= fSwmm =,

Options:
1% a

1. % p
3.8
4. ¥D

Question Number : 17 Question Id : 4356472017 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
U ATIATERE T hi w75aTs 31T =TS HH: 2.0520.05 m UF 2.0520.05 m ATH 70 2. 91 & S5l &1 &% A
A. 12.0520.01 m"
B. 12.05+0.005 m"
C.12.052034m’

D. 12.0520.40 m”

Options:
1% 4
1. % p
3.9

4 ®D

Question Number : 18 Question Id : 4356472018 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



T 1 R A1 o T A 99 O U A1 v i Fd T Yehs § U 1 Sl 0] & | 3 S At
= A q_ ¥ | A% 7€ R CF T2 a1 99, ekt B 2R @, W uweae = 3 Sl g SR o sa, Wegd il
2, 91 T ATEAETA 2

A 2T

B.3T

C. TR

D.3/2T

Options:

Question Number : 19 Question Id : 4356472019 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
T AT AT U feiae el | A o G FHET: 10 H 100 & | WTuiHE S w0 Haa e 1.5 v Fraed
T SISt ST € | Tt gt 4 faa g

AlS5WV
B.0.153V
C.0.0V
D. 15V

Options:

1% 4

1% B

3.4°C

4 %D

Question Number : 20 Question Id : 4356472020 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



500.0 m % F=T% 4 THI U gaist I (shaft) W FRaT 2, 5 oy ToT &t 2 | 1.00 « 10° A2 Wi a1 % & oo of dws
T ot fire =t 2 (a6 ofterd g 50 0 2 5fit g = 10 mis)

A.250m’

B. 400 m’

C.500m’

D. 200 m’

Options:
1% 4
1]
3¢
4 ®D

Question Number : 21 Question Id : 4356472021 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
T et & aR o o Tt o (A v B) forame w €. 39 T o S x-318 W S H x-218 W Aread g, y-378 T A

o 3= foam A et @ (vant=a A i @ oe) | = i fawmr e €, 9w B 7 [ ey i venten & A @ | SEa
Torad, < amer A W T ST O 2

(i) A F T TF X-a H o H B & P A 5

(ii) A I ST 0% X -378 T fewm § B U g S

(iii) e FH ST, 1 A T Y375 & AT a4 ST (591 H gAET

(iv) e FH Y ST, A1 A I V378 & =R a0 FHad S0 4 g9
=1 4 ot il aren, A # gt w s A e § ve farga awn S o 2

A. Fa (i)

B. #ad (ii)

C. a4 (i) T (iv)

D. @& (i) u (iii)

Options:
1 ¥ A

1. % p



®C
4 ®D

L

Question Number : 22 Question Id : 4356472022 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
<t fof SETIT T €, T GG 1iG U Haw W (e e e Wi e |

@)

~_

ey 3 1 o1 3 T e R et T o S e % we wh FEd arE

distance distance
distance 4 4 distance
- 3 |/
> > >
time time time time
A, B. C. 0.

Options:
I
7. % p
R

4 %D

(]

Question Number : 23 Question Id : 4356472023 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



=T o =t Tat=er 5 e T 2, v WA H T A % S g L A | e foun o feregd S wanted i St
2. QU o B W o A S w8, Uiy 5 T # S A o i O T i e T T E |

E=a A B

afs 7 o T 5= A v B 7 <A1 a0 & =g o gt srAF s Fy v Fg 2,
A, Fa>Fg #0
B. Fy < Fg
C. Fy=Fg+0
D. F,>Fg=0

Options:
1%
1. % p
3.9
4 ®D

Question Number : 24 Question Id : 4356472024 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
=t fome e wfey &, W 1 & e v T g,

R1 R2

di1

A, dR 1 # T awy AT €l afs e #e,
B. W 1 ¥ fogd ur vanfed erft afs &, /R #&,/R,

C. R 1 ¥ fergld gry yaied & 4% (£,+8,)(R,+ R)F(E- E)(R-R)
D. AW 1 & foed aw vatea 981 gni

Options:
R
1% p



Question Number : 25 Question Id : 4356472025 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
% A o B A g S S R, SE = 1.3 % 10 m TS 4 179 $1 So0HE O & | Ji (lead) o AT o e 4
= 206 | 59 T 5 &1 WieHl o =1= &1 iy e &1 99 7 & e erm:
A I0°N
B.10'N
C.10°N

D.10" N

Options:
1.¥ a

1% p
3.8 C
4 ¥ D

Question Number : 26 Question Id : 4356472026 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
o WG] il Tl Wi o a1 §411 &, el S0 5219wt (double concave) =8 &1 & | FHEHI &1 79T 1,33 S0=GHIH
T THT ST 1.6 AT ATl CS, H 5 =1 el © | T€ ATHR] w10 ol o0 FE HO Ala;
A FET W W I H EET
B. WHT & ¥ CS, § SO/ =T
C. &A1 ¥ WEH CS, H GamT A,

D. CS, U e T H a1 =

Options:
1. ® 4
2. % p
 ®C

4. ¥ D

L

Question Number : 27 Question Id : 4356472027 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



W e 1 u ST d A Sk T S W g H 1, W7 ST, Seih Uh G gedd 61 T 3T = § H B T

ST O T A t, B A # | g veut < 8 o arfureas S o wgEar 2

A vagtt,
B. /8 (t, + t,)°
C.g/8 (t,-t,)"
D. % gt,*

Options:

1% a4

1% B

3¢¢C

4. %D

Question Number : 28 Question Id : 4356472028 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
wmmﬁﬁmmmﬁmmrqﬁm%@ﬁéﬁmm?"l o AT B | U U e O qH o = 3 S e
| A 31T 2 A e =1l ST el § GRehee oid € | 3 AEd el 1 S e

A, 1:
B. 1:2
C. 2:1
D. 4:1

Options:
1% 4

1 ¥R
®

(]

4. %D

Question Number : 29 Question Id : 4356472029 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
3l UM FeH & &0 U o, V(r) = Kr™", <@ & w& Fadis 2, % siwid 39 &g 4 9od €. 3 39 Fai &
ﬁwir1,rlﬁaqﬁ-ﬁﬁv1,vlm:%,aﬁ

2 2
AV =V,

Options:
1L ¥4



1% p
3%
4 %D

Question Number : 30 Question Id : 4356472030 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

R AT e fdeadhia areET (clinical thermometer) % ST €A 2 | Wi a1 Fe & &t 91 07 SHeHT R0 A €2
A. FE THTT T S @
B. ¥€ I9&aH &
C.FIFATHAHITGTE

D. 30T 9 ATHH &

Options:
1 % A
2. % B
 ®

4. ¥ D

[N ]

Part I Chemistry

Display Number Panel: Yes
Group All Questions: No

Question Number : 31 Question Id : 4356472031 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1
Hi= ow v Tt v gifeaw == &1 vF A SO0 ST & UiE 14.3 % € 7 T 99 W TS A e

maﬁmEam:wn%rwrﬂgmﬁ, atomic mass, Na=23,H=1,C=12,0=16), @i dam &

A. C,H.COONa
B. NaHCO,

C. HCOONa
D. CH,COONa
Options:

I

1¢p

3%

4 %D



Question Number : 32 Question Id : 4356472032 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T 3T, Tfafes 3T, TS 9 U9 (AT § O 9 § Taead o #
A. HITHF 3T

B. ufeE I

[

D. T
Options:
1. ¥ A
1% p
3. % C
4 #p

Question Number : 33 Question Id : 4356472033 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
TTed W & FTEE €O, 0, N, T CO, T fam i ot Frfefad o 1 37 %2 &
A. CO=N,>0,>CO,
B. CO=N,>C0,>0,
o 0,>CO=N,>CO,
D. CO,=0,=C0O=N,

Options:
1 ¥ A

1% p
3 % C
4 %D

Question Number : 34 Question Id : 4356472034 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

25721 i UiTshAT O, T STt 38 A% Zn/H,0 T SR H- T 41 J&d 397 ¢

A. CH,COOH
B. CH,CHO
g CH,CH,OH
D. CH,=CH,

Options:

1 % 4

19 p



®C
4 ®D

L

Question Number : 35 Question Id : 4356472035 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1
CH3-CH,-CHy-CH,-C-CH,-CH,-CH
CH,
1 AR AT T W (IUPAC) T Frr &
A. 219 B -1-57
B. 257 U2-1-59
g 2-W1T9e-2- et T
D. - 1- SAfeet e

Options:
1L ¥4

1% p
3%
4 %D

Question Number : 36 Question Id : 4356472036 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
ST A B U= H,80, % a9 7 o5t 51 o & =t srfafon & v o seme fmr 2
A. CO, CO,, H,0
BE. Co, 50, H,O
C. H,S., CO, H,0

D. HCOOH. HES. CO
Options:
1.9 4
1% B
®

[N ]

4 ®D

Question Number : 37 Question Id : 4356472037 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



LiOH, CO, ¥ 3141 3 Li,CO, (T 599, Li=7) 911 €. | g LIOH & EE= o4 7T CO, %I 7T (g H)

AL 0.916
B. 1.832
= 0.544
D. 1.088

Options:

1.9 A

2% B

3% C

4 %D

Question Number : 38 Question Id : 4356472038 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Frfafas o 9t o vaw (aewt) 1 SAiedim gem +4 8
A. H.S

B. o8,

o] Na S0,

D. Na S0,

Options:
1 % A
2. % B
 ®

4 %D

[N ]

Question Number : 39 Question Id : 4356472039 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
ALO, wffra FaT &
A, FAAAAY
B. #aAd @AY
C. A §1
D. 77 TS R aH

Options:
1 ¥ A

£

1% p
N

Lsd



4 %D

Question Number : 40 Question Id : 4356472040 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 1

et 1 @R KMnO, & SATei=hT § TR J6d 36718 (1 &
A, T
B. TUhlE® 3=
C. WIH®F 3=
D. SiTaTeasE 3T
Options:
1. % 4
1% p
3. % C
4 ¥ D

Question Number : 41 Question Id : 4356472041 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
U A W H U ATGH 19 U TEEetd 79 (1 atm) W 27 °C & 327 ‘c a% 7 faen s 2. fiw @ aifon o
e g
A. 3 TS
B. 0.5 AHE
e 2 AHEA
D. 12 FTgHES

Options:

1% A

1% B

3¥C

4 %D

Question Number : 42 Question Id : 4356472042 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

Li, N, C U5 Be § ¥ Tad 951 WHIEE (=41 AT e &

A, Li
B. N
C. C

D. Be



Options:
1. A

1% p
®

(]

4. %D

Question Number : 43 Question Id : 4356472043 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
fFrafafas # 9 FiF AT=2T= (redox) SR
(i) CdCh +2KOH > Cd(OH), + 2 KCl
(11) BaCly + K2804 2 BaSO4 + 2KCl
(i) CaCO3; = Ca0 + CO;
{iv) 2Ca+0, 2 2Ca0

Al (1)
B (11)
£ (111)
D. (1v)

Options:
I
7. %p
®C

4. ¥ D

(]

Question Number : 44 Question Id : 4356472044 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



frreferitaa = & =19 91 e ST ® He AT (ground state) IeAIE (941 €, S §S 99 (Hund’s rule)

W1 T T B
A ] B [
Lo } |
I I 2p | y2p
Enengy f 25 Enengy T 2
—H— 15 —H— 1z
C I ] D ')
H 2 R
Enengy f 25 Enengy +25
e to STAPR
Options:
1.9 2
2. % p
3. % ¢
4 ®D

Question Number : 45 Question Id : 4356472045 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



il dTIT:!ﬁI (threshold frequency) ¥ I & aTlT:i'I':‘r[ el Whavit (monochromatic) #Td & o0 sI5==rE & Tam

A A B. A
=) o
g g
i T &L
L [ .
g5 25
4= L=
o (ol
Intensity of Intensity of
radiation radiation
C A D A
= o
gz gz
L L
g5 85
£ =
o [l
Intensity of Intensity of
radiation radiation
Options:
I
2% B
;¥
4 ®D
Part I Biology
Display Number Panel: Yes
Group All Questions: No

Question Number : 46 Question Id : 4356472046 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

AT DNA #1 6.6 x 10° & 5 61 UF 731 i el w3 (a1 eni?

A. 22nm

B. 0.22nm

C. 22m

D. 22m
Options:
1% 4

1% p



¥
4 ®D

Question Number : 47 Question Id : 4356472047 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

Tmefifi, 1eit @1 (pertussis) 31 2270 & i o Fafcifaa 9§ O =7 &1 87
A, Tevwiiiom, wiiem il fEeTm & itad v & ==

B. Tewfifran 3t fee=a %1 f (toxoid), TS0 &1 Io1-7a T0g0 <=

c. Tewiifen, gt si feema =it 1 it & gard

D. Tewiifta, wdiaw i feem & I wegui <9

Options:
1% A

ﬁ.‘fB
®

[N ]

4 ®D

Question Number : 48 Question Id : 4356472048 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Faifeafiga & O #17 o1 99 (enzyme) 21 27

oW

D. TaHmEET
Options:
1% 4
1% p
3%
4. ¥ D

Question Number : 49 Question Id : 4356472049 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

ufert & =i &1 pH ey § @ formss g Frafia S e
HCO,

H,PO,

CH,COO

Cl

R

Options:
1L ¥4

1% p
®

(W]

4 %D



Question Number : 50 Question Id : 4356472050 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

9a7] (Podocyte) TAE, S ol T H%eL HivTHI=a (glomerular capillaries) %1 I8 ol =Tl W I w-1d1 &, Fel qrl
=T 27

EﬁqﬂﬂE{capsuleJ

T T

EEedLEll

pLey

"t

OnEp

Options:
1 ¥ A

1% p
®

[N ]

4 ®D

Question Number : 51 Question Id : 4356472051 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
e feFefeid DNA & 20 wfow wfed gm &, 56 DNA # fofeen amded £
A, 20%
B. 30%
C. 40%
D. 20%
Options:
1% A
1¥p
3% C

4 ¥ D

Question Number : 52 Question Id : 4356472052 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
=1 | T i e ST o R § g e | e A8 e
T (Niacin)
®IE (Nicotine)
F®IFAMEE (Nicotinamide)
D. == (Tryptophan)

(1 W P

Options:
1 % A

¥
1 ¥R
C®

(RN ]

4 ®D

Question Number : 53 Question Id : 4356472053 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



Escherichia ru;’fﬁ'%ﬂﬂﬁicndunjwfm AT F1 Hohd 5 87
A. 64

B. 60

C. 6l

D. 20

Options:

1 ® 2
2. % B
3vC
4 ®D

Question Number : 54 Question Id : 4356472054 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
T HHIZ (Bombyx mori) W= 5 T 7550 =7 (order) &7 9700 &7
.Er- \-\ -.

[ Y

e

;-\._-\.i
L Y

D. I

W P

Options:
1 ¥ A

1. % p
38
4 ®D

Question Number : 55 Question Id : 4356472055 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T 3 T S AT a5 i e
A=

HMHE

Ad

AT

N NS

Question Number : 56 Question Id : 4356472056 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



Frferfas 3 T %19 o1 =g ST o7 Tt & Te e & 9 w91 8
A, T
B.

C. HAfEEr
D. H&F
Options:
1. A

1% p
C®

L

4 %D

Question Number : 57 Question Id : 4356472057 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
i g U TG U S 5 A 1 G e 2
A 44
B. 45
C. 46
D. 47
Options:
1% 4
1.¥p
3% ¢C

4 %D

Question Number : 58 Question Id : 4356472058 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T 1974 7, gaT AT TEHTAT G=Hdra a1 8 == 747 =] sl fmaten ur?
A. T o T8 & ford

B. G- ol T o B &1 1 AT & o fordl

C. WgHY U o feidl e &l 5% i ° Fataa

D. AT G A9 F FF T T 79 F ol

Options:
1 ® p

£

1% B
®

[N ]

4. ¥D

Question Number : 59 Question Id : 4356472059 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



ey 0 31 | AT A ey AT O Wik # it A2 €7

0 0O W =

Options:
1% 4

19p
3%
4. %D

Question Number : 60 Question Id : 4356472060 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

fr=fafaa 7 4 %9 o1 3 fodiaa (syphilis) 7 #0627
Treponema pallidum

Neisseria gonarriioea

HIV

0w p

D. Hepatifis B

Options:
1. ¥ A
1% p
R

(W]

4 %D

Part II Mathematics

Display Number Panel: Yes
Group All Questions: No

Question Number : 61 Question Id : 4356472061 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
T Q@ wETE AR e W EREFm a® —a* +ta=2.7

A 0%< 2 L A R A

c. 3<a®<4 B 4 = g8

Options:
I

1. % p
3.9



4 %D

Question Number : 62 Question Id : 4356472062 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
e e nx? + 7Vnx + n = 0 § n o g guts gem 2, Fretiae § w9 ar e g s d
TAE?

1. Tt 1 n % o, Tfeo & 9@ R e

IL 7 % 37=7d HH & I8 ST 9 TR e,

1. i &1 A% F2 & 0 e 2,

A. A M1 B. FaA [d9T I
C. ohae 1 TUT I D. I,II o I
Options:
1. % 4
1.9 P
RN
4 %D

Question Number : 63 Question Id : 4356472063 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct : 2
U TS A AT ST T AB F e AH S . W A # s 0 R Tar AO#C vwimfag? e
AC:CO = 2: 1. war AQ wwm CD vdi =t f& D srdgm w . w@r AD wuwww OF vd sl i foig E, AD

fiud &1 OF it CD fag H = #ed 2. @@ DH F19H&m

1 e 1
AL — e}
V5 V3
1 c
y5—1
C = D

o
%]
%]

Options:
1% 4
1% p
.9

4 ®D

Question Number : 64 Question Id : 4356472064 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



reifera o | gy srgam, A S T Sy UH S o Sehe @ A & okl =S AT s & g . 9 o R
3d (slanted) T & FABeA F1AM S, B A9 S, /S, FHAAEM

A. 2 B. V2 C. 1 D.

F
w [

Length = a

wji

-
P
1A

%

Options:
1.¥ a

1% p
3.8 C
4 ®D

Question Number : 65 Question Id : 4356472065 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
iz foreft 7 23T i T 1 A5 =8 ¥4 & (randomly) 414 foam =T/, @& 50 a7a ot Wiideat (probability) 1 &t

o Tivea T2 a7 ST 1S FAGET (permutation), S A ST AT TEATE, 4 AT s U AT

1 29
. B,

45 180
C H D -

60 4

Options:
1L %4
1 ¥ B
S #®C

(]

4 %D



Display Number Panel: Yes
Group All Questions: No

Question Number : 66 Question Id : 4356472066 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

TEHEAT B T 1 S ST AT & FEET G, SR Y x gl W, & e 18 | R s § 3w
FIE [ 9 x & WY §C IR0 il G e 7

R

Options:

1.

Ll

W A
% p
R

® D

Question Number : 67 Question Id : 4356472067 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



e o T o A v AmEaen Few & 5 i & e, e A9Eaaie g, u, T g §, 5 S ST | U

TERTYT 31 TR AT 30 e & 9T u2d W AEEd Aiad gl & 99T 516 92 U e a1 Hed Ad € | STaaaAies 5

T BT 7
13} [ L
Ha
45" 45°
A |vl|2_ sz s 2,'-132
B. pL|2+ p; = .u;'
C. u,2+ u; = Euf
D. “22_ H}z el 2.'-‘:_2
Options:
1 ¥ A
2% B
3% C
4 ®D

Question Number : 68 Question Id : 4356472068 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
UHHHT T %1 931, Sl 16 U TS ABC % ST | &, T 5509 540 gm ® | 130T AB, BC, U6 CA i =[5 %H91: 3 cm,
5 cm UH 4 cm ¥ | TE 9E1 A B9 9 {65 A 0 U (pivotted) ¥ | T W 9 1 5oA SISl S S@H i 95 79 9% wew
o6 Foreht =t 3o ot &fost &1 e 7
A.CW 140 gm
B. C 91 540 gm
C.BW 140 gm

D. B T 540 gm

Options:
1. A

1% p
C®

(RN ]

4 ®D

Question Number : 69 Question Id : 4356472069 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



TF 20 gm i AT, FrmET e F9 5000 Jike-"C) B, 2000 m/s =S T UF 1.0 kg T & U=, et =i 39w 23000

Jikg-"C) &, H U=l oL ST & | Wil 3 " 3 g @ o 25 °c & | W o 1S (i) it 5 o 31t o o 5 STy 8 e

(i) Tt o6t o ey 311 5 1 S el &, A A & s w1 A fad a1 °C § 39 =6 e

A, 281

Options:
1% 4

1% p
.9
4 ®D

Question Number : 70 Question Id : 4356472070 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2
TF “V-ATER F 5% 195 H & TR THEHH C € | q=0eT & @19 41 S e e 5 9 w0 0w 0= ° dede W

A, cos (1/3)
B. cos (1/2)
C. cos' (1/4)
D. cos (1/6)
Options:
1% A
2 %P
3¢
4 %D
Part [T Chemustry
Display Number Panel: Yes
Group All Questions: No

Question Number : 71 Question Id : 4356472071 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



FreiRae sfiEearait

CH; CH;
N
O Q"
s

g X,Y,UHZ#
A. X =CH,CL Y =95 AICl,: Z=HNO, + H,S0,
B. X = CH,COCL Y =¥ AICl;: Z=HNO, + H,S0,
. X = CH,Cl; Y =¥F% H,50,; Z=HNO, + H,50,
D. X = CH,Cl; Y =@ H,50,; Z = HNO,

Options:

1.9 A

2% B

3% C

4 %D

Question Number : 72 Question Id : 4356472072 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
2,3-5T5 FIESS Tl 257215 H G < SATHIhAT 5 At fhar ST ahar € TH i & e e s g
= 2
A. (i) HCI 3T (ii) NaH
B. (i) & KOH 31 (i) NaNH,
& (i) Na 7 (ii) NaOH
D. (i) Br, 3 (ii) NaH

Options:
1% 4

1 ¥R
®

(]

4. %D

Question Number : 73 Question Id : 4356472073 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



i st b R NN
NO (g) + O3 (@) —— NO, (g) +0,(g) AH =-198,9 kJ/mol

Os(@) —— 3120, (g) AH = -142,3 kJ/mol
Oz(g) —— 20 (9) AH = +495 0 kJ/mwol
G AR e 8 - a1
NO (g)+0O(g) — NO2(9)
o T Tt witae B
A. -304.1 kJ/mol B. +304.1 kJ/mol
C. -403.1 kI/maol D. +403.1 kJ/mol
Options:
1.¥ A
2% B
3% C
4 %D

Question Number : 74 Question Id : 4356472074 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
ATH T Ieh U TEFTH (pesticide) T 1.85g T THMHE &9 ¥ TUATAsO, H TRafda faT sal & (As &
AT M = 74.9) TF Pby(As0,), T % T 301 S3ATH Pb™ % WTAfEAT AT 2. 3% qedalsg (equivalence

point) TR i 1T 0.1 M Pb™ T 20mL HAT=¥I a7 €, A1 ST & T | A B Tiaer F & T80 8

Options:
1% p
1% B
3.9

4 %D

Question Number : 75 Question Id : 4356472075 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



A= HCl & UfdfHan %0 9 Mno, T 19 (X) 581 & Sl T4: Ca(OH), ¥ SIT4{oRT 92 U 4d 319 (Y) It9~ oal &.

3 (Y) T HC| T A1f¥TaT ¢ 09 19 X 309 *aT 8, aa o Y 2

A. CaO
B. CacCl,
x Ca(OCI)Cl
D. CaCoO,
Options:
1% A
1% B
3¢¢C
4. %D
Part 11 Biology
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 4356472076 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2

UHE i HdE T AEHeH T 5 760 mm Hg €. Feiieriad 3 9 %9 O TF (range) mm Hg ¥ CO, & HMW1E o &
A F gad g 27

A. 030-031

B. 0.60-0.61

£ ID-3

D. 6.0-6.1

Options:

1. ¥ A
1% p
3.8 C
4 # D

Question Number : 77 Question Id : 4356472077 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



UF TS (breeder), I FeAT ATl Y[ S U 7 T A1t BeAl AT [ A G T 01 2. F, Data 7 0 T
202 Hataat weat S 4d Tt vt off. F, Tafedi 31 -G H0- T 2160 Tafadi I eid 8. 37 o w0
1215
405

A
B
C. 540
D. 135

Options:
N
R
RN
4. ¥ D

Question Number : 78 Question Id : 4356472078 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2
Y A 9 gl & AT e it WY B SfiEl & A fow e €. 3 fasgeen #d g wE WA= (combination) T
= Wi,

HIA 9B
P. AT (neurogenic) B89 L AT
Q. T3 (bronchial) 524 ii. f&T %=ET (King Crab)
R. FFFHT (pulmonary) &4 iii. Th

A. P-ii, Q-iii, R-i
B. P-iii, Q-ii, R-i
C. P-i, Q-iii, R-ii
D. P-ii, Q-i, R-iii

Options:

1. ¥ A

1% p

3%

4 ® D

Question Number : 79 Question Id : 4356472079 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



Frr fau o = e e demem F sfafra i s amee @ o Fr awid € o smmw Fe g a wm
TS 3=9 ANl H14 (thermophilic) 317 =1 arwmit fia (psychrophilic) & o w# &7

P. [ Q. @
g i
: HA
G T
m
g Bl M
Temperature Temperature
R. = 5.
g g
8 A
5 k=]
3 E /
= &
Temperature Temperature
A. PHRP
B. p#ls
C. PHER
D. R3TTR
Options:
1. ¥ 4
2. % p
3. %
4 ¥D

Question Number : 80 Question Id : 4356472080 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
e | & fal & e € o W 11 ¥ IstE stihed g w2 s e w g ed aaem

(combination) =T J47 F,

aE | aE I
P. EESciA . RIS THTEEE & ST ST
Q. AT ii. Br TETIT & IT=Ed 3N A=A
R. STTEHTEE iii. 31 R F S
S. A iv. Foreft e & TremEf: aE 1 e

v. O AT W S YETe T T S S

A, P-iv, Q-ii, R-iii, 5-i
B. P-v, Q-iv, R-i, S-iii
C. P-iv, Q-i, R-iii, S-v
D. P-i, Q-iv, R-v, 5-ii

Options:
)



L2

oL



